Vidar Christiansen

Surrogate term paper autumn 2008.

I recommend that you write answers to these problems as an exercise in the absence of a regular term paper this autumn. 

Problem 1
Consider the following model:

There is a private sector producing a homogeneous output x and a government sector producing another homogeneous output g. Let x be the numeraire. Assume labour is the only input. An exogenous amount of labour N is available of which L is used in the private sector and H is used in the government sector: (1) N=L+H. The respective production functions are given by (2) x=wL and (3) g=H. In both sectors labour is paid a wage equal to the exogenous labour productivity in the private sector, w. Assume that public provision is financed by a tax, at rate t, on labour income.

a) Explain why this model may be suitable for discussing Baumol’s Law. 

b) Which parameter may be changed to model technological progress in the private sector? 

c) Show how the tax rate and the allocation of labour are affected by technological progress in the private sector when 

i) g is kept unchanged

ii) g and x are consumed in fixed proportions.

Assume that the population has a utility function u(x,g).

d) Explain why the allocation problem of the economy can be modelled as a utility maximisation problem subject to the budget constraint 
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e) Discuss by means of consumer theory the effects of an increase in w on the allocation and the tax. 

Problem 2
Consider an economy where there are two types of individuals facing different wage rates – type 1 individuals that are low-skilled and type 2 individuals that are high-skilled. The government knows the number of each type but the skill level of any given individual is private information not available to the government. The government imposes a non-linear income tax, and possibly commodity taxes, for raising revenue and redistributing income, and it provides an amount G of a public good. Pareto-efficient provision of the public good can then be characterised by the following condition
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where 
[image: image3.wmf]h

n

 is the number of individuals of type h (h=1,2), 
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 is the amount of commodity i consumed by an agent of type h, 
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 denotes the marginal rate of substitution between private disposable income, B, and the public good, G, (h=1,2,m; where m is the “mimicker”), r is the marginal cost of producing the public good, 
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is a commodity tax (per unit of commodity i), and 
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is a positive parameter. Denoting the utility function by V, 
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a) Discuss the economic content of the condition above. 

b) Explain how and why the last term should be modified in case commodity 1 generates an external effect where the external cost is 
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 per unit of the commodity (and the cost is measured in the same units as 
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Problem 3
Discussion of commodity tax arguments. 

a) Because of soaring oil prices the fuel price (on petrol, diesel, etc) is now much higher than a couple of years ago. As consumers pay VAT on fuel some politicians have argued that government revenue has increased a lot due to larger amount of VAT from fuel consumption. They have further argued that the increase in VAT on fuel should enable the government to lower other taxes.
Discuss these arguments. 

b) An issue in many developing countries has been whether to impose a VAT or to use border taxes, e.g. import duties. An argument in favour of the latter alternative has been that developing countries often have a large informal sector, where businesses are not VAT registered. 

Discuss this argument.  
c) Where a commodity generates an external cost there is case for imposing an externality-correcting tax, often referred to as a Pigouvian tax. Consider such a good. Suppose also that there is a general VAT in the economy. Denote by v the VAT rate. Suppose that the cost of producing the good in question, not including the external cost, is normalised to unity, and assume that the good generates an external cost e per unit. It is debated how to tax the good. One option is to set the total tax per unit, denoted by t, equal to t=v+e. The alternative is to set t=v+ve. Disregarding labour supply incentives for the moment, what would you recommend?

d) Discuss if you think there may be a case for taxing (purchases or ownership of) cars?  
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